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1. Let Xand Y be continuous random variables with joint probability density function given by s |
R S —

f(x,y)=k(x+y2) for 0<x<8.5 and 0<y<4.5. Find P[x>4,y>3.2]. ; |
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2. Let Xand Y be continuous random variables with joint probability density function given by
f(x,y)=—5%e_(x/7+y/8) for x,y2>0.Find E[XZY].
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3. Let X and Y be continuous random variables with joint probability density function given by

f(x,y):L(2.18+6y) for 0<x<y<l.Find P[X+Y >1].
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4. Let Xand Y be continuous random variables with joint probability density function given by f(x, y) =k for

0<y<x<I18.Find E[ex/d’]
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5. Let Xand Y be continuous random variables with joint cumulative distribution function given by

3..2 3
F(x,) =%+ xlf) for 0<x<1 and 0<y<2.Find P[X>0.54,)>1.04].
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